Sr

10

1"

12

13

14

15

Questions

dUﬁ@JJE&\JLumuL&wA):\E\AJ.ﬁ

= Us a0 Sl glss (2 )y 2

L L8 L5 S il (e 5o S G

U LS Gl ey o5, 1S I

138 alade ) peai IS -

o ok S S da S Gs b 3 e

= S oslé (AB)t =7

(A+B)t UslB ALY B b o A S

RIA=-A) 5 A S

s IS S s o B ) (e S

o S 5 ey ISl Jaltia gl adi e S ca iy

= s Maad (S sallS gl Ul (e B p e

usies Sloy Se usise IS e oy

= BUS g U SO G pea (e s B

=S AL S e 25 oo Al S aland S sl ) s U

Answers Choice

wo -~ N

wo =

1855
1856
1857
1858

nxm
mxn

m2 xn2
n2 x m2

S el
ds sl
o b))

o e

= W

owr>» O0WP» UOW» OOWPr OUOWrP UOwWpr» COm» OUOWrP OUDOWP» OUOW» COTOW» OOWP OUDOWP» 0UOW> OOWrP
>
s
W



D. Al




